FEI32EREERHTRAF—Y DL FEEAFHFEIERE # 8 : $M5511A118 (1)
28 :FRAYTFTY — F
(HHERMILILLEEETE)

NEE (BREFE (18 #F)

No. EF L FEF iR H "
D+E TR B i
4 15K &% 2 TiaraRG 11.750 0.050 11.700 1
7 |ERE RLE 2 TiaraRG 10.250 0.000 10.250 2
1 8% oxVY 1 TiaraRG 9.750 0.000 9.750 3
6 |&F #BE 2 TiaraRG 6.800 0.000 6.800 4
10 |4 T % 1 LuLuDi RG 6.200 0.000 6.200 5
5 | o EAER 1 LuLuDi RG 5.950 0.000 5.950 6
12 | =2 2 AFIRKR=Y I T TR 5.950 0.000 5.950 6
9 |BEN R 1 AL IRR=V I TTRB/E 5.650 0.000 5.650 8
2 |BE EBEE %h LuLuDi RG 5.550 0.000 5.550 9
1IEk = 2 TiaraRG 5.450 0.000 5.450 10
8 |7 E= %h AL IRR=V I TTRBE 4.700 0.000 4.700 11
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18| & 4 AFIRK—=V I T THEER 7.350 0.000 7.350 1
16 | B 3 AFIRK—=V I T THBR 7.000 0.000 7.000 2
13 [ 32 4 ERREAEY) A=Y 57 6.850 0.000 6.850 3
15 |l EE 3 LuLuDi RG 6.600 0.000 6.600 4
14 |#% E3 4 AFIRK—=V I T THER 6.500 0.000 6.500 5
|xFLvr 742 4 AFIRK—=V U T THER 2.700 0.000 2.700 6
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20 [ILF o 4 TiaraRG 14.200 0.000 14.200 1
21 | &F 3 ShaleurRG 9.650 0.000 9.650 2
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23 |Ee Eit 4 IFIRR—=Y T T TBE 15.500 0.000 15.500 1
22 |Fk BE 4 BABRMAEY RR—Y 75T 14.250 0.000 14.250 2
24 |ImA EB= 3 ShaleurRG 8.850 0.000 8.850 3
25 |EE FE 4 LuLuDi RG 8.000 0.000 8.000 4
IZNEE BEE (57)
[
No. EBFH I FriE fiE£
D+A+E pE=t Ba i

26 IS A8 3 LuLuDi RG 8.800 0.000 8.800 1
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27 | B BXK 6 ShaleurRG 16.750 0.000 16.750 1
29 |’BER B 5 TiaraRG 13.250 0.000 13.250 2
30 |&EH e 5 ShaleurRG 10.100 0.000 10.100 3
28 | BE 6 ShaleurRG 7.450 0.000 7.450 4
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31 |3 K & 6 TiaraRG 13.450 0.000 13.450 1
33 WA = 6 BABRMAEY RR—Y 75T 11.750 0.000 11.750 2
32 |E E[=) 6 AF I RKR—=Y I T TER 9.850 0.000 9.850 3
34 |EHE ThE 6 BABRMAEY RR—Y 75T 10.300 0.600 9.700 4
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37| HFE 6 TiaraRG 13.050 0.000 13.050 1
36 1=F 18 5 ERREAEY RKR—Y 05T 11.700 0.000 11.700 2
35 Iy kA0 6 AFIRKR—=VY I T TER 11.300 0.000 11.300 3
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39 |# ELYl 6 AFIRKR—=VY I T TR 13.600 0.000 13.600 1
38 |RE FZE 5 TiaraRG 12.600 0.000 12.600 2
40 1B HHE 6 TiaraRG 11.550 0.000 11.550 3
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49 HE ik AFIRR=VITTHBR 17.450 0.000 17.450 1
50 |11 R BBRAEY RR—YI 57 15.800 0.000 15.800 2
45 [WhEa %k&E BBRAEY RR—Y0 57 14.100 0.000 14.100 3
A7 &L FERME MBRAEY RR—=Y0 57 13.900 0.000 13.900 4
41 hbx BABRE LuLuDi RG 14.200 0.300 13.900 4
46 |=F = MBRAEY RR—=V 057 13.000 0.000 13.000 6
43|Hs B MBRAEY RR—=V 057 11.750 0.000 11.750 7
M \KB ER AF I RR—=Y I FTTER 11.400 0.000 11.400 8
48 |iR e 3t AF I RR—=Y I ZTER 11.150 0.000 11.150 9
22 |mH == MEBERAEY) RR—=Y 057 9.700 0.000 9.700 10
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52 PliE #F TiaraRG 22.300 0.000 22.300 1
51 [k =X TiaraRG 20.200 0.000 20.200 2
54 |FN 3 MEBERAEY RR—=Y 077 14.200 0.000 14.200 3
53 |k ER Shaleur RG 13.050 0.000 13.050 4
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56 |FeH = TiaraRG 22.000 0.000 22.000 1
b5 B4R #EE Shaleur RG 15.400 0.300 15.100 2
57 |8 WS E MEBRAEY RR—=Y 077 13.900 0.000 13.900 3
58 |BHE AL TiaraRG 0.000 0.000 0.000 4
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60 |EBHR E 2 LuLuDi RG 19.700 0.000 19.700 1
62 |FEF B=E 2 AFIRR=VYITTHBR 18.150 0.000 18.150 2
63 |Fh EXE 1 Shaleur RG 15.350 0.000 15.350 3
64 |l B 1 TiaraRG 14.450 0.000 14.450 4
65 |&H & 2 AFIRR=V I TTHBR 13.250 0.000 13.250 5
6l Lt E 2 MBRAEY RR—=V 057 12.250 0.000 12.250 6
S NINE EE 3 MBRAEY RR—=V 057 11.800 0.000 11.800 7
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66 |MIT FTER =2 [Shaleur RG 18.750 0.000 18.750 1




